TEST b 1 PHYSICS 4 10TH ) S ud T.MARKS @ 30

NAME ROLL NO SECTION

TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY

Circle the Correct Option 1X6=06 uf/@a}b{.,,lz;vﬂ

I) S.Iunitof frequency is: _‘L&gSIKuJ;g/' a
(A) Hertz (B) Newton (/: (C) Radian ] £~ (D) Meter ~

Il) The main categories of waves are: _q;,'lﬁ!d),l,%d/izﬁ n
(A) 1 (B) 2 (C)3 (D) 4

1) Which of the following is a method of energy transfer? ?‘Lbndwiéj_ﬁé./d“"%fﬂ,@/Lifc;uﬁg,)f;‘,y,c» an
(A) Conduction u;( g (B) Radiation ﬁldéj (C) Wave motion ufr‘g; (D) All (L?

IV) Which device is used to produce transverse and longitudinal waves? ‘LttgwWié’.&_ﬂijsg&,uﬂ;ﬂu/ (v
(A) String $.23 (B) Riple tank ...Cj’gj J (C) Salanky UCL/ (D) Tuning force u‘/;’u@

V) In a vacuum, all electromagnetic waves have the same: _ug‘?if&g)g, V@fg‘;}‘? l(ﬁuﬁ(};g (v
(A) Speed i (B) Frequency u”‘;g Y (C) Amplitude 345 uff“i (D) Wavelength ;@g,

VI) The example of shock absorber of the vehicles are: _‘aJt‘fd/J/./i'/.iJ BLUys€ (Vi

(A) Linear motion u’r‘ﬁd (B) Vibratory motione/* (s (C) Dampled motion uﬁr‘,”gﬁ (D) SHM Lfy‘u@‘/gg)f

Write short answers of the following 2X7=14 q/[//’"@uz/fféwvd S
1) Define time period and frequency. _q/..y/"'d/u'.";g/'mé/gfﬁ q
Il) Define simple pendolum. Write its time period equation. u.‘f‘ﬁc«bb»gﬂi/g(/’t’éu’l)iqf..yfgfﬁ%ulz (n
Ill) Write two features of simple harmonic motion. _Q/} fgyﬂ;JJrJr/‘Lﬁ (m

IV) Define demped oscillations and give one example. -wd‘fdmp )11 /_,g /76/ ﬂw!fgﬁ (v
V) Differentiate between longitudinal and transverse waves. ?;.J}guﬁ/’g,wyﬁu‘m_ffz%@ (v

V1) What is the function of Ripple tank? fe g@“ﬁn@@ (vl

VIl Prove that V=4 v=fA gtk Vil

Write detailed answers of the following 5X2=10 q)}/’.pyzwéwvd Soun

1) Define wave and explain its types with examples. Q/wux;u;’t‘qfrtﬁ&fuﬁuu/h@/@; (1
2) Describe waves as carrier of energy with details. -q/ul“«.cd'f‘y ;(Jg;,g/,}&j!dti‘! (2



TEST O 1 PHYSICS «<10TH ) T.MARKS e 30

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE I CHECKED BY
Circle the Correct Option 1X6=06 J @a}b{.,«b?://; (1 /,‘U’r‘
1) In motion of a simple pendolum restoring force is provided by: -‘L&/: ww}.,é;’id/z_nafw,?ﬁg;w a
(A) Inertia L2/ (B) Tension in strings AL Lo (C) Air resistance .71 ~Isz (D) Force of gravity afd/uj;
I1) The example of Hook's law is: _‘wa!uiu“&u‘( an
(A) F="" B) F=_" ) k="2" o) F =—kx
k kx X
Ill) Radio waves are: —Jrdsy ks AN
(A) Transverse waves (B) Logitudinal waves (C) Electromagnetic waves (D) Al of these fa‘
s ot s Is S 20
IV) Waves transfer: -‘a&/ﬂﬁ (v
(A) Energy §./1 (B) Velocity & Us (C) Wavelength 5’%’; (D) Frequency U{.{ Y
V) The relation between time, speed and distance is: -‘Ly Undl Lol izesdy (W
(A)v:ﬁ (B)vzg € v=" (D) v=dlt
7 { d
VI) Ripple tank is a ____ device whice produce: e bn e L3 Sy ne JTILIGES S (VI

(A) Light waves J;j;u((fu (B) Mechanical Wavesizsf’ﬁc (C) Radio waves gy 4. (D) Electromagnetic s .«@Q/”?l

00 0e

Write short answers of the following 2X7=14 q/}f.pyz/fféww Souk
) Define time period. Write the formula of time period of simple pendolum. uf‘qmmjg(’e’éﬁﬁg«,w.q/.gf@;’(’e (]
Il) What is spring constant? Write its formula. _uf‘@’fu,os?‘uygcd’dlj/v q
I1I) If the length of a simple pendulum is doubled, What will be the £ ;v(’eﬁm?ugd;/ %Jw&/&zguvﬁ ¢l

change in its time period? ?u@%/& U

IV) Write a short note on longitudinal waves. _u.‘f‘ﬁ.b,;"/’%/’g;‘_ffz?@ av
V) Differentiate between mechanical and electromagnetic waves. - Vr 5 bﬁ/'u:fjg; V@g‘; }’Lﬁ l/;!Jgj;J{/;{g (v

VI) Define wave equation and write its formula. _uf‘%n bl /Ja’)b”d}fﬁ i

VII) Define rifraction and diffraction of wave. - /..éf fd/uigfﬁzﬁ’uﬁg/'zd/;"; (vn

Write detailed answers of the following 5X2=10 Q’)}}&;Uﬁ@éc«ﬂb’d;’gjﬂ (3 /:‘Ulr‘

1) Derive an equation of relation between speed, frequency J Szl sl d/ Jw sl 3@}:”” u,,,;g P L (A
and wavelength.

2) Find the time period and frequency of a simple pendolum q/()’“‘u:";g/)ﬂ,é/gfﬁ K/;fg»;u VL@QJ/”&Q (2
1m long where g =10ms~ g=10ms> @&



TEST O 1 PHYSICS «<10TH ) T.MARKS e 30

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE I CHECKED BY
Circle the Correct Option 1X6=06 uf/@a}b{.,lﬁw/)
1) in simple harmonic motion, velocity at extreme position is: -‘adn(jb’u;/?ﬁjgd%iuﬁfrngf (I
(A) Maximum ssbJc—ssLJ (B) Minimum (e ¢ (€) Zero 3 (D) Some time minimum/ sl i"
I) If length of simple pendolum of earth is 1m then its time period is: :Knéﬁftgui?n}f.,géwd/ﬁfgg.g{uﬁj (n
(A) 1second (B) 2second (C) 6second (D) 10second
Ill) The Sl unit of amplitude is: _9&58Igﬁfdﬁ~i (1]
(A) m (B) cm (C) Sec ) 1,
IV) Which is example of Iopgitudinal waves is: ?‘LJ;UC?JJ{;JQ?@ (v

(A) Light waves J;j;u((fu (B) Sound waves Jys k3L (C) Water waves Jgﬁu( dg (D) Radio waves Jysy 4.

Fr

V) Which of the following characteristics of a wave is independent of the others? Q&}’ZJ.%MW S /;;:«a‘r‘} U/}J/d/;f) (v

(A) Speed i (B) Frequency u"‘;g Y (C) Amplitude 3 gi/"! (D) Wavelength ;@g,
VI) If the speed of wave 340725~ and wavelength is 0.5m, then  SU190.5m 5‘@,5/;!;4 340m5—1/§;d?,;.g/7 (vi
frequency will be: Jnu‘;g/
(A) 170 Hz (B) 340 Hz (C) 680 Hz (D) 3400 Hz
Write short answers of the following 2X7=14 u”/,;fc,yz/'gﬁomydjjgjﬁ (2 /:‘Ulr‘
I) State Hook's law. _q/u‘l‘/.uik?t{.{ (
Il) Define transverse waves. _q/..éf fd}g;uﬂr’;’}’ (n
Ill) Define mechanical waves and write its name of its types. _u.‘f‘ﬁrtéru%fu’wu/wy/d/}g;ﬂ (m
IV) Define Crest and Trough. gy S (v
V) With respect to simple pendolum, what is difference ?‘LJ)l[ufﬁ;:”uffml‘ﬁ/:’bcL!iiﬂfgguv (v

between vibration and amplitue?
V1) What is meant by simple harmonic motion?What are the necessary Jn‘LJ;’ 2L ().J; ety Ls’/c'_ Jr.fng‘ﬁ’ i

conditions for a body to execute simple harmonic motion? U kﬂ:ﬁ ﬁu’JUJ J_/Lg, Jr
VII) Does increasing the frequency of a wave also increase its 4z %/ 19 (5* S5z RS (VI
wavelength? If not, how are these quantities related? bl /g/ e ui'ﬁj” i
Write detailed answers of the following 5X2=10 q)}f;yg&aﬁé:,mydj EEdN (3 /.’U’r‘

_Q/:w Lmivéu)Lf»u;JrJJ/'quJg;w/l}’m}}?}J (1
1) Distinguish between longitudinal and transverse waves with suitable examples.

A P I SN LA Sl et o F 0 BkgU 2l (2
2) Ablock of mass 0.5kg is a Hached to a spring place on a horizantal frictionless surface. If the spring. If the
constant of this spring is 8 N~ . Find its time period.



TEST b 2 PHYSICS 4 10TH ) S ud T.MARKS @ 30

NAME ROLL NO SECTION

TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY

Circle the Correct Option 1X6=06 uf/@a}b{.,,lz;vﬂ

I) Sound is form of Energy: _9(3J&ji_¢5v a
(A) Mechanical J@fa (B) Electrical Jé/”?l (C) Thermal J'/? (D) Chemical J%‘{

Il) The intensity level of rusting of leaves is: -‘adzfﬁv{w'//d/uf; (n
(A) 10dB (B) 20dB (C) 30dB (D) 40dB

lll) The speed of sound in air: -‘L/fg-.:.‘ k3 (I
(A) 1246kmh™ (B) 1264kmh™ () 1262kmh™! (D) 2162kmh™

IV) The example of longitudinal waves is: -‘adl:"fd/}g;gfﬁf‘g (v

(A) Sound waves s 43l (B) Light waves Jg;d/(fu (C) Radio waves Jysy 4. (D) Water waves Jgﬁu( dg
V) For normal person audible frequency range for sound wave lies between: ‘L)JMJU:{'»( /'u(i’ﬁ L«yhﬂ? ég u’;"rlo..g (v

(A) 20Hz - 20Khz (B) 10Hz - 10KHz (C) 30Hz - 30KHz (D) 25Hz - 25KHz
VI) If speed of sound is 320ms~", the distance covered in a time K43l-Us1.5523 4 320ms ™! /B/Jﬁﬁvugﬁ (i
of 1.5s will be: —Erdolins S

(A) 221m (B) 480m (C) 408m (D) 804m

Write short answers of the following 2X7=14 J,,/.. ;:JU)?/‘?LQUVJ:J.?J%

I) On what factors does frequency of tuning force depends? ?‘L@/'juf]/?u; A J/ u’”;f /d/u’u’u@:" q
Il) What is meant by intensity of sound? Write its S unit. _uf‘@gS|Kw?c‘_ﬂ/gc_i'5vJ6’ﬁ n
1) Define Echo. How much minimum distance for Echo? ?%gtnysﬁfﬁ’{iéul?§_;ygcéf (m
IV) Write speed of sound in air at normal temperature. - /:/ f:@d?ﬁuﬁm; ﬁf,}ubt (v
V) What is meant by acoustics? ?;.yg&:&ggféf (v
V1) Write two uses of ultrasound in medical field. -g/ug.guwnu:_,»iﬁ:w% i
VII) What is the necessary condition for the production of sound? ?‘Ld/}/ ty 6L ’/:.‘Lf;(iéc"_/ﬁ/g,ﬁﬂ/ (v
Write detailed answers of the following 5X2=10 q)}/’.pyzwéwvd Souk
1) Write a note on Characteristics of Sound. -u:f‘i_a)/?ggoﬁd/ﬁ - (1

2) What s ultrasound? Write its uses. VP I 1S LA (2



TEST b 2 PHYSICS 4 10TH ) S ud T.MARKS @ 30

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 uf/@a}b{.,,lz;vﬂ
I) Two consective waves Compression and Rarefrections called: - "'J;’:Lv@uyz;é /“»kai/? /{LJ{;}I%; a
(A) Frequency U{.{ Y (B) Time period £ ﬁ(f ¢ (C) Focal length a’@d{i (D) Wave Iengt.h 5/@3
I) The intensity level of train siren is: -‘Lbﬂdgﬁgujlfédj n
(A) 100dB (B) 120dB (C) 130dB (D) 150dB
Il) The unit of intensity of sound is: —e ket T (N
(A) Wm B8) Wm™ (C) Wm™ (D) Wm™
IV) The loudness of a sound is most closely related to its: e L"n4u‘;uf]}o; [%; KU R IV
(A) Frequency U” :.{ Y (B) Period 4 /2 (C) Wave length a’@g; (D) Amplitude 3» uffi
V) When the frequency of a sound wave is increase, ___ will increase: ?Jnﬁj’,@fu’u:’/ ié_lgm”/.(j"' f.{ }JJ:S (P (v
(A) Wave length /5’@,; (B) Period & (C) Amplitude 3s Lﬁt/“’ (D) A, B both
VI) How does sound travel from its source to your ear? ?LL&%&.,» $ _.f.TTL()'LbLnngﬁv (v
(A) Changes in air pressure (B) Vibration in wires or strings  (C) Electromagnetic waves (D) By infrared waves
Gl i e P st Py s ha P
Write short answers of the following 2X7=14 u”/,;fc,yz/'glomydjjgjﬁ
I) Whatis difference between loudness and intensity of sound? ?La&/'gu:j:m_sv’&“"%muf% v qQ
Il) What is the difference between the Frequency and Pitch? ?c‘_J}L[ui‘ u”' ;k/ }/;léf (n
lll) Write two characteristics of sound. _u:“{myr‘%;d/féi (]
IV) What is meant by reflection of sound? ?§,Jygci~5vb57uﬁ?f av
V) What is meant by Noise? Write its sources. - /ut,.ém*&u / ?4‘-;’/&,@_/? (v
VI) Define Ultrasound and give its use. _Q/uwW.,gwu,u/,gﬂfﬁv% vi
VII) List at least three reasons to support that sound is a wave. -Lad%/g;fcﬁ qu/ug.ggmuf ﬁ’ [ (v
Write detailed answers of the following 5X2=10 q)}/’.pyzwéwvd Souk
1) Calculate the intensity level of rusting of leaves. -ﬂﬁd}ﬁ ﬁgﬁsVJwt//({u}z (1

2) Define loudness of sound. Upon which factor does it depends? ?94u?gdfuﬁgu’ﬁq/.g}JdA&,T (2



TEST ) 3 PHYSICS «<10TH ) T.MARKS e 30

NAME ROLL NO SECTION

TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY

Circle the Correct Option 1X6=06 uf/@a}b{.,,lz;vﬂ

I) Law of light reflection are: _%:uftiéﬁgf&ﬁ/ q
(A) 2 (B) 3 (C) 4 (D) 5

Il) In convex mirror focus is: _+rnJ}K//uff.g (n
(A) Infront of mirror& L (B) Centre the mirrorul“,wﬁ// (C) Behind the mirroréﬁ// (D) On the mirror /?,IL//

Ill) The relation between-the focal length and radius of carvature is: -‘LJJJ ugwﬁ éﬁfdi’&ijii@f} (m
(w £=" B) /=" © =" o ="

2 3 4 5

IV) The refrective index of water is: -ba;wf d/Jg,’L'bf{ /Ldg (v
(A) 1.33 (B) 1.36 (C) 1.39 (D) 2.33

V) If the image is virtual then its distance from lens is taken? -LLL“@QJJGQ)%KJO%J}?/J@I i (v
(A) Positive =3 (B) Negative d" (C) Half l=sT (D) Double s

VI) Which of the following quantity is not changed during refraction of light? @mﬂif“ @L«Kfuﬂ@byiﬂﬁd/ L}%/ (Vi
(A) Its speed ,Q:“d/u / (B) lts direction MJJ / (C) Its wavelengthﬁ%;u@’l (D) Its frequency u‘" % }Jm

Write short answers of the following 2X7=14 u”/,;fc,yz/'glomydjjgjﬁ
I) Define centre of curvature with diagram. -Juﬁnq)ﬁgf&@/&% (
Il) Differentiate between convex and concave mirror. _Q/ 5 I;J}J//Jgicﬂ//zg (n
II) Write conditions of total internal reflection. _u:f‘@j yJ u’ge‘_)}’lj; (m

IV) Give two types of Endoscope. -Q/ul“«.(uﬂud/.’aﬁ;fc;’ (v
V) Make diagram of photograph enlarger. -d/u(’/i!ﬁJf?/Uuutﬁ;’ (v

V1) Write the formula of magnification of critical mirror. _u%num%“%%/dé /;V (vi

VII) What is difference between short and long sightedness? ?%J}L[u.fu’ ﬁ:g.‘/;ld ﬁ_«; /“ (vn

Write detailed answers of the following 5X2=10 Q’):/;QU;?MLQUVJ:;'?JA’

1) Draw ray diagrams to show the formation of images in the J"/y[,;,(_ruiljd/:,;lad/é’uﬁﬁ&wgbt (1
normal human eye.

2) Describe how light is refrected through convex lens. ?LL&)T&.L./ /)Z, /J( = /;JJgf é%/f Q/ul“«. (2



TEST b 3 PHYSICS 4 10TH ) S ud T.MARKS @ 30

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 uf/@a}b{.,,lz;vﬂ
1) The formula for focal length is: _LLUAGK,;@J{} a
® f=2 ®) /=" © =7 o) =%
Il) Refrective index of air is: -~ bm el 26 QN
(A) 1 (B) 2 (C) 3 (D) 4
Ill) The critical angle of water is: - Vnﬁiﬂ/ﬁ}g (m
(A) 90° (B) 95° (c) 48.8° (D) 488°
IV) Power of lens is directly proposhnal to: _+&n&7/;gJ /3 v
(A) For DiopterL /";T‘}l 5 (B) For principal focusJ/ !’J"/{ (C) For focal Iengthiif@f} (D) For focal pointé_w’iggf}
V) Conditions for total internal reflection are: -u“w’ﬁd/ JQJ/"«IJJ (v
(A) 2 (B) 3 (C) 4 (D) 5
VI) Image formed by a camera is: _‘agnn‘aé:’é ’}?ufo/{ (Vi
(A) Rbeal,inverted,dimigished (B) \{irtual, Upright, Dirrjinished (C) Virtual, Upright, Malgnified (D) Real, Inverted, Magnified
B el e S e nl a0 Srenn Gy SrernS i
Write short answers of the following 2X7=14 q/}f.pyz/fféww Soun
I) Whatis Spherical mirror? ?ugc""’:i//ﬂ/é" (
Il) State Snell's law and write its formula. _u:f‘{f"/Un bl /ug.ui G’KJ}/ (n
IlI) What is the function of gastroscope and broncoscope? ?9rKgK7P,€4/;17B ”/f an
IV) What s prism? el e iy IV
V) What is meant by concave lens? Draw its diagram. -uf/lkcﬁ?é‘-i’/l:@—fgzg (v
VI) Write down two uses of lenses? _u:”@,u LJ”’»LJ}?. I
VII) How short sightedness can be corrected? fe U:lg gﬂ»dffd }Lf, 2 (Vi
Write detailed answers of the following 5X2=10 q)}/’.puzwé.pmyd By

1) Explain image formation in convex lens with help of four figures. -Q//LMJJ@’UE&?UJL{&)&u(é'dﬁ/'gu'gff (1
2) Write a note on compound microscope. _uf{ai/?.;;ﬁ;)? l.fcﬁl{}/ (2



TEST b 3 PHYSICS 4 10TH ) S ud T.MARKS @ 30

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 uf/@a}b{.,lﬁw/)
I) Speed of light in glass is: _%Q:J&%/ui&? q
(A) 2x108ms~!  (B) 2x10-8ms~! (€) 3x103ms~! (D) 3x10 8 ms~!

I) Index of refrection depends on: -‘at“muf%u&’g/}.}ﬂ/gﬁi (n
(A) Focal length.; 553 (B) Speed of light 4/9;&3%/ (C) Distance of objectd= 6~ (D) Distance of image;&2 6 &'
lll) Index of refrection of diamond is: _+ﬂ}/JTJg¢IK;ﬁ (m

(A) 1.33 (B) 1.52 (C) 2.21 (D) 2.42
IV) The image formed by concave lens on screen is: = L“béid/u‘;q}/fgg (v
(A) In\jerted and virtual (B) Inverted and real (C) Upright and virtual (D) Upright and real
v S Sl Sx Sl S
V) If g=10cm, P=30cm then magnification will be: :u@u'“f?gj??ﬂq=100m, P=30cm /1 (V
™ ® (€) 20 (D) 40

Vi) An object is placed at the centre of curvature of a concave :d/ng/i/’;jd/é'dbic//-‘a'2{5’5/~5"7"“£//Z@F{g (Vi
mirror, the image produced by the mirror is located: ’ o

(A) Out beyond the centre of (B) At the centre of curvature (C) At the focal point (D) BT centre of curvature & Focal point
SA ke fa T/ DT 2221y S7 L Ly Kt fr ST
Write short answers of the following 2X7=14 q/}f.pyz/fféww Souk
1) Whatis the refrective index of water and ice? ?‘Ltﬂf@’:t}? /;/b/&guU/. q
ll) Define critical angle. NS AS NI
IlI) Under what condition the image formed by converging lens is virtual? ?‘Lbué’gf},/;ﬁéﬁﬁﬂ.@/ﬂ/ ¢l
IV) Explain the use of lense in camera. _q/uy.db»“wn{;!uﬁ»/{ (v
V) Define terms resolving and magnifying power. _Q/..éf /U/,g .@;z/ (v
V1) Write down two characteristics of compounds microscope. _u‘f‘v/ _agm%; d/b; 5)? L,'L'St;f i
VII) What is telescope? ?Lal:l’(&f( VPJ{ QY]
Write detailed answers of the following 5X2=10 %.):/f.pylng:.pﬂlfd Lyfj}m
1) What do you understand by reflection of light? Draw a Juy‘jd/&//?i//w.g?a‘-;l/gc; : “"/d/gﬁj (1

diagram to illustrate reflection at a plane surface. J”/_w L‘nc_gfﬁ

2) Explain the total internal reflection and write its conditions. _uf‘@”'/ﬁ ﬁfmu Sl d/ %J/"-Uj (2



TEST b 4 PHYSICS 410TH) Sy T.MARKS @ 30

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 uf/@a}b{.,lﬁw/)
) Electroscope is used to detect: -+anWI?_£LUg:;K&er _*ﬁ}g Il
(A) Electrons ‘/';}"g / (B) Charge &% (C) Voltage : 3 (D) Current sy
I) The Sl unit of charge is: ~e2ySIELse (Il
(A) Ohm (%l (B) Ampere %I (C) Coulomb & (D) Volt s
Ill) A positive electric charge: el A5y QN
(A) Attracts positive charge (B) Repels positive charge (C Attract a neutral charge ) Repels a neutral charge
ety S lusy < S e U I e
IV) An object gains negative charge after being rubbed against Cll Z//ln*Co;L/u»//u’iLL/ /() '« /»/() L1 (v
another object, which is: - () /».Jv/)ﬁ/ <
(A) Neutral J Bx (B) Negatively charged)wla//;brﬁ (C) Positively charged . b4 /% 3¢ (D) Al ru
V) Unit of Electric intensity is: -LM}JKWJ/’O’ (v
(A) Nm (B) NS (C) ms™! D) NC!
VI) According to Coulomb's law, what happens to the attraction of two :gfbulfwﬁb l;...a’kﬁ’»/ I bl O 5 Jf (vI
oppositely charged objects as their distance of separation increases? ('Kg//i ww;&r@wiutmww
(A) Increases 9[5@2 (B) Decreases ‘aglgn{ (C) Remains dluif& x4 (D) Cannotbe determined 3" S5
Write short answers of the following 2X7=14 8, f.,ui/'gé.,mrgf}pjp
1) how charge is produced? Give an example. _J/..) Lo;:_JVJ%. Caelag JC/[P a
II) Whatis gold leaf electroscrope? “kaup /ﬁuuf ([
ll) In electric intensity a vector quantity? What will be its direction? Qd/flfwd/w%_/’wfgbfﬂlu(/alw (m
IV) Define electric field. - Sy /’JA{J/‘? (v
V) Write the formula of parallel combination of capacitors. _u:“‘qJnGt{.’?g /JJ’/:« Ké.iﬁ:’/”/}/ (v
VI) What is variable capacitor? fe by l["/}f'/ Jf"’d“/; I
VIl) What are the hazards of static electricity? el L[L uu"}"g [ (VI
Write detailed answers of the following 5X2=10 Q): ;L’ﬁML&U’/J}gJN
1) Write a note on Coulomb's law. _u:“‘g:,]/?u] s (4

2) Explain relation between electric field and electric intensity. Q/yu,dl}” uk’fﬁﬁt}b’y’u(/bg ’A’)’/UWJ/}’Q (2



TEST b 4 PHYSICS 410TH) Sy T.MARKS @ 30

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 J @a}b{.,«b?://; (1 /,‘U’r‘
1) The unit of electric potential is: _‘Ldggﬂuc"gi a
(A) Ohm (”ui (B) Ampere &= (C) Joule Jz (D) Volt s
Il) The value of K in S.lis: YN TN (
(A) 9x10° Nm=C~* (B) 9x10° Nm*C™> (C) 9x10° Nm*C* (O) 9x10°m>C
Ill) The formula of electric intensity is: -LLU}”/UKW/&,{;J/};?’ an
r o I
) o (B) * ©) 7 ©) £
IV) The capacitance is defined as: _‘Lgl? J@/JJ'%}JJ{J{ (v
V
() Qv (B) VC © " o Y
V) The electric lines of forces were introduced by: :y;/J/L&;’/-//}JT)’/UJ}? (v
(A) Faraday PR TY (B) Coulomb Jf (C) Einstein g;fliuufi’ (D) Newton K
VI) The Coulomb's law is valid for the charges which are: ?‘au;/’riﬁ‘i/lgd@] of’f J/ (VI
A) Stationary & point charges (B) Moving & point charges €) Stationary & large size D) Moving & large size charges
ety etz wZ J2S7 2l 2oL A e st sl ST
Write short answers of the following 2X7=14 u”/,;fc,yz/'gﬁomydjjgjﬁ (2 /:‘Ulr‘
I) Whatis Electrostatic induction? U "'JZ./ f’l’lw@”ﬁ A1l
Il) What is meant by electric field intensity? Write its formula. _u:“ﬂ u’fm b4 ?c‘_;l/L[c; u"“uyj}? (l
I11) How many methods are there of combination of capacitors? ?u’f‘irtugﬁé /’ﬂ/LJ_iﬁé "/5( (m
IV) Write any two uses of capacitors. -u:”ﬁc/Ul.»"v“b;LJ "/5( (v
V) What is the numerical value of K in coulomb's law? ?d/nl[ogdwd/KJfW£uiﬁ‘£ Y
VI) Differentiate between variable and fixed capacitors. _q/ 5 I;J}Jij M;’Jﬂdg; (VI
VII) Write a short note on electrostatic air cleaners. _u:“ﬂ d’a}]/z?/’/.?.%.‘.’w@”} 1 (vl
Write detailed answers of the following 5X2=10 “): ;U)?MLQU’}"J:J',?JA’ (3 /:‘Ulr‘
1) Write a note on different types of capacitors. _uf‘i ¢,]4(L3L.éfgd/i /”:{ (1

2) Write uses of static alectricity with one example. _uf‘i ‘;;).Jdc».,gauwé C(J"/"g I (2



TEST b 4 PHYSICS 410TH) Sy T.MARKS @ 30

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 VDTN (1))

1) What will be electric lines of force where intensity of electric iu(m)&i:«ﬁu(i?u(/bg'u%&W}JTQ’UJ}‘?' Q
field is maximum:

(A) Narrow > (B) -ve to +ve ebe (C) +ve to -ve e i (D) Winder 2235
Il) Capacitors are used to store: -ugLnJL»‘“Iégé./a/é;"/;’( (]
(A) Resistance u’?J/ (B) Charge &% (C) Voltage : 3 (D) Current sy
Il) The S.I unit of coloumb's constant is: —e2y Sl Kt Qu
(A) Nm*C™ B) Nm?*C*? (€) Nm=>C™> (D) Nm=C?
IV) S.I unit of capacitance is: -e2y Sl Ku"fu’f/ (v
(A) Farad (F) 42 (B) Coloumb  (C) w4 (C) Volt (V) s (D) Newton (N) /%
V) Three capacitors of 3PF, 4PF and 5PF are connected in parallel Zgjz.»«.%.h}’uﬁb/{ufisppmm 3pF (V
combination with battery of 6v. Equilient capacitance is: :u(nug Jf{j}&96v 39 d/ d/”f',?.ug
(A) 6PF (B) 12PF (C) 14PF (D) 17PF
VI) 5 joules of work is needed to shift 10C of charge from one place Jﬁé&g’.&é_w_,{fu’ evse o {197 gL 10cki (VI
to another, the potential difference between the places is: :Knﬁ}ﬁdﬁ%uyniahl;?»u]»ut-‘a L"gt/uc)
(A) 0.5V (B) 2V (C)5V (D) 10V
Write short answers of the following 2X7=14 “/“ LU;?/?L@UVJ: SounA
I) State Coloumb law. _u:“@i@’t{.,a)/ (
Il) Describe two properties of electric field lines. U5 ayﬁ};J //UJZ&’J)"? (I
I1) Define Capacitance and write its S| unit. _uf‘ﬁu’:&gSI KJ!,,!%/_,@}JJ?@{ (m
IV) What is difference between capacitor and daielectric? -Q/ 5 b3 A 13150 "/:“( (v
V) Define Farad. g 82 (v
V1) What do you know about electrolyte capacitors? U a@g@ﬂuﬁ;/gi ”/5( &U})”g (Vi

VII) Write a short note on application of electrostatics in spray painting. _uf‘@,,’}”%ﬁw!uﬁu@;/;é J@:}g! (vn

Write detailed answers of the following 5X2=10 q)}/’"@gm&ﬂéouv‘i Souxr
1) Each capacitor in parallel combination has equal potential SIAL <k J/ ”/j»”( éf;/"ﬁc.‘ég P !/5&;( (1
difference between its two plates. Justify the statement. _q/w L‘o}%. mm/'sffgd,w

2) Describe the applications of electrostatics. -Q/ul“«.ﬁuwéu’@;}gl (2



TEST > 5 PHYSICS «<10TH ) T.MARKS e 30

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 uf/@a}b{.,,lz;vﬂ
1) The formula to find the magnitude of current is: _‘Lunwé_/(%lﬁfd/d/ a
W 1= CRES € 1=Cv o) /=07
Il) Anideal voltmeter has a resistance: _+&n u’%J}:&»d&.g (n
(A) Low (B) Very low (st (C) Very high »sljer (D) Nothing LS5\
Ill) Mathematical form of Joule's Law is: —< Sl gl Jz
(A) W = 1Rt By W =I°R*t () W =IR* D) W =1IRt
IV) Electrical energy is given by: -‘Lgﬂf.’/.&/".«(/b’g’ v
(A) Qt (B) QC (C) Qv (D) QR
V) The unit of electric power is: -‘a_‘v‘g%;gu@?' (v
(A) Volt /s (B) Joule Jz (C) Watt <1 (D) Ampere #~I
VI) If emf of a battery is 2v, the energy supplied by battery is when ;‘LVJ}ZLU:&'(/E@JL;J}(V?;}?ZVJU’/?/T (i
one coulomb's of charge flows through the close circuit. -‘4[5/: L«y&jbﬁ!d/"f
(A) 2 Jouls (B) 2.8 Jouls (C) 4 Jouls (D) 5 Jouls
Write short answers of the following 2X7=14 J,,/.. ;:JU)?/‘?LQUVJ:J.?J%
1) Define electric current. _Q/.Q/J&/J}g’ q
Il) What s difference between current flow and water flow. ?§_J}gu:5q£&g/,l_v/ (n
Ill) What is digital multimeter? fe L.c'//b’fﬁ‘h oS (I
IV) Define ohmic and non-ohmic conductors. SIS st dast IV
V) Define resistivety and write its formula. _uf‘%w Gﬂu/_g /'JC}; ;:J:“J/ (v
VI) State Joule's law. ~JAeIuIe Ll Jz (VI
VII) What is the difference between Earth wire and Live wire? ?‘LJ/;l[uf/”»f Ui sz (VI
Write detailed answers of the following 5X2=10 Q): fa&iﬁ&ﬁloﬂlﬁdj;’gjp
1) State Ohm law and write its equation. _u.‘f‘ﬁu’{c/l;bmufuljfui G‘Lﬂ' (1

2) Explain the factors affecting on resistance. -q/yu,&j ’fL!;Lanﬁl{J‘b’b (2



TEST p 5 PHYSICS 4 10TH ) S ud T.MARKS @ 30
NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 S I (1)

1) The unit of current is:

—e e

(A) Coulomb —4 (B) Joule J# (C) Ampere A+ (D) Volt &4

I) Sl unit of resistance is: - 2SI Ku’.‘b/]/ (n
(A) Farad 5’1;:’ (B) Ohm (”ui (C) Volt s (D) Ampere A~

Il) When resistances are connected in series the current passing through them is Aa;*//ﬂb%c;ui’ u'@ L“lgi)’ﬁuﬁz K}C’ J e (n
(A) Different s (B) Equal «/« (C) Zero #* (D) None u.?@/

IV) Mathematical equation of ohm's law is: -‘aai;l,»dlzd/uib“iﬂﬂ (v
() V' =IR |) V=01 € V=IR’ ©) I°R

V) Electric potential and e.m.fis:

(A) Different unitsujﬁgf? (B) Same quantities ] /L5~ (C) A and D both

VI) What will be the voltage across the 6 Ohm resistor, when 3

:_,gl@udu,lf%_/}‘?l (Vv
(D) Different quantities / /LeA_il*
et I S¥ 3 ol a6l (VI

Ampere current passses throug it: 11 @J»JV’IL Y27
(A) 2V (B) 9V (C) 18V (D) 36 V
Write short answers of the following 2X7=14 ”/“ Lyzfgéomydj;'g}ﬁ (2 /:‘Ulr‘

el e S FE

e DA EAS
?ugﬁﬁgf;guisiﬂ’ (m

G ARG P (I

S k5oLl oSy oL o s (V
U Sy L gun, S (v

S G AR Atk (VI

DB I (3~ i
1) State Joule's Law and write its equation. -u:f‘iu’{u;uu!u'f@i FeUz (1
2) Discuss the main features of parallel combination of resistors. -u'f‘ic«” r“’ﬂ [ Jzybéf;iz:;%/«y e (2

I) What do you mean by convetional current?

Il) What s difference between cell and battery?

lll) What are the limitations on the ohm's law?

IV) Differentiate between Conductors and Insulators.

V) Write down two advantages of parallel circuit of resistors.
VI) Define electric power and write its unit.

VII) What is difference between fuse and circuit breaker?

5X2=10

Write detailed answers of the following




TEST p 5 PHYSICS 4 10TH ) S ud T.MARKS @ 30
NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 S I (1)

1) An electric current in conductors is due to the flow of:
(A) Positive ions )’/7}"11‘}; (B) Negative ions /5/75?
Il) The rate of flow of charges is called:
(A) Coulomb 4 (B) Ohm (4
lll) The electric power of washing machine in watt is:

(A) 50 (B) 100
V) When we double the voltage in a simple electric circuit,
we double the:

(A) Current sy (B) Power s{
V) What happens to the intensity or the brightness of the lamps

(C) 750

connected in series as more and more lamps are added?

(A) Increases < t»e3Lof  (B) Decreases +&nu/
VI) What is the power rating of a lamp connected to a 12V source
when it carries 2.5A7?

(A) 4.8W (B) 14.5W (C) 30w

(C) Volt /s

Qa[}{m Uiuiﬁf(f/ st "%;/ sy 5}5@ g

(C) Resistance U~ 7/
Sule & Sl Sun L e ne @ by w (V

oSS L e S I

(C) Positive charges 2%y (D) Free electrons 5y S5

g ES G L i
(D) Current o)
e, S E
(D) 800
fombLiea (IV

(D) A, B both

("LW{J/QQ&/@JU%/

(C) Remains L"zu.'?’u"/éf (D) Cannot be predictedtadﬁ‘ta
S LA AL sne gl 12V (VI

ce et 25 A UEUILE

2X7=14

Write short answers of the following

(D) 6OW
L ern i bine

1) Define Ampere.
) Whatis difference between Galvanometer and Am meter?
lll) How we measure e.m.f of a battery?
IV) What are insulators? Give their one example.
V) Write the equation of Joule's law.

VI) What is difference between A.C and D.C current?

VII) Why in conductors charge is transferred by free electrons
rather than by positive charges?

STy N(

S SR AR QI

s ISP dmfrgidss an
g e LSttt A (v
ol $uiss Uz (v

fe J/JUXA.CsD.C (VI
d//}/ﬁ’)’/’LL{Lf/b//}’@/lpw /'/Af (v

Write detailed answers of the following 5X2=10

u:/: “G'JU)?MLQU’}’J:J',?J#’

1) Write parallel combination of resistors with one example.

2) Write safe uses of electricity in houses.

U/ 5’;;J@ngﬁgﬂﬁéfb 1
_uf‘@uw};ﬁt{&*}?uuyf (2




TEST D 6 PHYSICS «<10TH ) T.MARKS e 30

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 J @a}b{.,«b?://; (1 /,‘U’r‘
1) In D.C motor coil can rotate in magnetic field by an angle of: -La&crf.@ﬂjuﬁgu@?‘ﬁfuﬁrD.C a
(A) 30° (B) 45° (C) 60° (D) 90°
Il) Transformer is used to change the value of: :iﬁi,go{"ba L“Lgk;@la"fi// (]
(A) Voltage § 2, (B) Power (s, (C) Energy S&. (D) Charge S &b
1) The transformer works on the principle of . L 9(?/((// (]
(A) D.C motor A*$5  (B) Mutual induction ﬂ!‘ﬁrj (C) Self induction ﬂi._.df (D) A.C generator = %S|
IV) The turn ratio of transformer is 10, its means: :?n10;«»¢jd/u;/§£ S Lé»'i/"/i (v
N = = _
W N =" @ N =10V, © =1, o) V=107
V) The presence of a magnetic field can be detected by a: ?QCJ:ME?&( = K Lf ird/ﬂf‘.«@‘g‘ (v
(A) Small mass (B) Stationary positive charge (C) Stationary negative charge (D) Magnetlc compass
A e Lbii b ookl = Jr gk
VI) If the current in a wire which is placed perpendicular to a /lwd/_//Lbdc;u"/l;drf/ l»fu"/.lf’.«@c/i (i
magnetic field increases, the force on the wire: .w}’u@g dbg/v‘;/bi;lg “Lb»/./
(A) Increases U2 % (B) Decreases Jsr( (C) Remains S ¥ f4 (D) Will be zero a3
Write short answers of the following 2X7=14 u”/,;fc,yz/'glomydjjgjﬁ (2 /:‘Ulr‘
) State right hand rule. SIS
I1) Whatis difference between A.C generator and D.C motor? ?4-0} Ut k2 Geilivesiss
Ill) State Lenz's law. _J S ASssC A
IV) What is Relay? How it works? S bbl e Y IV
V) Define step-up and step-down transformer. fe il l, e s W’/’USU’JALAJ (v
VI) Can a transformer operate on direct current? e/ K/V/J/U//LM/U/ I
VII) Which device is used for converting electrical energy into u"‘fﬂfjjff /Ué/‘ﬁ!i@l/ LKJ’U:J’ (v
mechanical energy? “LL/(K/JM ﬂ_LL/J &
Write detailed answers of the following 5X2=10 Q): L;m&«ﬁéauv‘f“ pry 3l (3 /:‘U’r‘
1) Describe the magnetic field of a solenoid. -q/ww;d/i&"v@gﬁ,‘yl}ér (1

2) Define and explain mutual induction. _q/yu,?+;yg¢ﬂ’&f (2



TEST > 6 PHYSICS 4 10TH ) S ud T.MARKS @ 30

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 uf/@a}b{.,lﬁw/)
1) Which part of D.C motor reverses the direction of current through Lbééd@jﬂﬁ J?/ L& sTre  EAsSs AU
coil every half cycle? _‘atz;/J“ /,?/u‘d/:j/
(A) Splitrings # w4~ (B) Brushes (C) Commutator <+ (D) Armature %7
Il) Which device is based on the principle of electromagnetism? ¢ ’%QJLUQJML( ;Q,}Q x{
(A) Electric motor.#_/*¢/ (B) Heater A (C) Electroscope *:‘%}g! (D) Hard disk ..ﬁﬁ’ﬁ’/g
Ill) Which thing works on the principle of electromagnetic induction in iﬂw@?}}?!uﬁwy»gu@?wﬁf%&y (m
hydro electric power house? ?‘L&/( K{Jﬂi
(A) Voltic cell 5 (B) Galvanic cell S (C) Generator 432 (D) Motor »*
IV) ___in a transformer the voltage across secondary coil is denoted by:  —t & /765 é“J».J%!LJT/d/}?J 26417 (IV
() E ®) Lp © N © Np

V) A device which is used to increase or decrease the _e bl LL"L:MJWigL/[LuLJ/éJ»f’s‘ﬂ"ﬁﬂuﬁ (v
alternating voltage is called:

(A) Voltmeter A~ (B) Generator 7 (C) Motor (D) Transformer /17
VI) Which part of a D.C motor reverses the direction of current Lbéauﬁ JD@LJ?/ V&;'h.‘ﬂ? Ly 565 (VI
through the coil every half cycle? ?‘atz;/J“ /J’/o/d/a/
(A) Armature 2T (B) Commutator <+ (C) Brushes ~ (D) Slip rings /C%,p
Write short answers of the following 2X7=14 q/}/’.py,z/ffé.pmrd Pl (2 /,‘U’r‘
I) Define electromagnetic. How many poles it has? ?uj;Lnﬂ{f ﬂ/éu‘ - S /7J V@?,}? N
Il) On what principle D.C motor work? ?9J/?K4Jﬂ!u’?rD.C (n
IlI) What is meant by electromagnetic induction? ?9;yg¢ﬂtv@%}?’ ¢l
IV) Define mutual induction. _‘j”/.,gfd/ﬂld?y: (v
V) Write down two ways to increase the magnetic field. _u:“ﬂ & /»La‘.tw”/.fu’/;’u@g' (v
VI) How many coils are used in a transformer? Write its name. _uf‘iftujLndL&U/lfi e 317 (VI

Vi) W:atfreszrsestth;e direction of electric current in the armature ?‘L (}l‘,’ d’«”& /, J/ Murb‘,/. /r J}?; S f{/ﬂff 565 (VI
coil of D.C motor?

Write detailed answers of the following 5X2=10 Q): fa&iﬁ&ﬁloﬂlﬂ:}gjﬁ (3 /:‘Ulr‘

1) On what principle D.C motor works? Briefly explain it. _Q/.w L‘u-+&/( K/?Jr"u//”y‘u‘ U3 (1

2) Write the definition of electromagnetic induction and explain q/wuw_dtiwu/uy/&ﬂw@@/”?l (2
with example.



TEST b 7 PHYSICS 4 10TH ) S ud T.MARKS @ 30

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 uf/@a}b{.,,lz;vﬂ
1) The particles emitted from a hot cathode surface are: -Q?Lilf@n@bfc;i/d/ 3’,52'/(/;2%/&4' (I
(A) Positive ions )’/7;":)& (B) Negative ions )’/T;}? (C) Electrons ’/)}’?l (D) Protons ‘/’!’3{
Il) The proton is heavier than an electron: _+bnd/%LUJ}giu;54 n
(A) 1836 times (B) 1863 times (C) 1870 times (D) 1800 times
Ill) During natural radioactivity how many types of radiations are emitted: ug(}ﬁiwl}uf Lxﬁurfp u%u»&&y}f %/J/j an
(A) 1 (B) 2 (C) 3 (D) 4
IV) The half lfe of Plutonium in years is: e SIS PU F Qv
(A) 0.85 (B) 1.85 (C) 2..85 (D) 3.85
V) AND gate can be formed by using two: ?‘LGCnJ’ la_gbaﬂgfﬁ:f fo;liqfdwlu%z&'/ (v
(A) NOT gates u’giut (B) OR gates :;7 (C) NOR gates :;L' (D) NAND gates :}cj
Vi) The process by which electrons are emitted by a hot metal surface is known as: e tMun@Aéﬂ}g ’ci/f/@u&uﬁ Jl’ag /’Lgl (vi
(A) Boiling &1 (B) Evaporation (/5! (C) Conduction (D) Thermionic emission /3%
Write short answers of the following 2X7=14 u”/,;fc,yz/'glomydjjgjﬁ
1) What is meant by Thermionic Emission? ?4‘-;’/9(:_ gﬁ"ilv@:‘/; (
Il) Write a short note on reflection of electrons by magnetic field. _q/ug. /szu’g%gfw}? lé,j&,ﬂj.@g n
Ill) What s difference between ADC and DAC? e O/ SU“DACADC (Il
IV) Differentiate between Analog and digital electronics. ?‘L;!/l[cwg}? Ufto{“é’mﬂla’ (v
V) Define Atomic number and Mass number. -Q/..QXJJLJB’MMZJW (v
VI) What is difference between stable and unstable elements? _u.‘f‘i J}uﬁ&ﬁxﬁ;gr?}ﬂg/v(g i
VII) Write equation for nuclear fussion. _J/f/ fwwég{u@jﬁkﬁé (v
Write detailed answers of the following 5X2=10 Q’):/;QU;?MLQUVJ:;'?JA’

1) Differentiate between analog and digital quantities. - S 5 ’;J}uﬁ uuu’a’fﬁbﬂ_ﬁ)lzgl (1
2) How radio isotopes are used as tracers in medical treatment? S L“lggfaf:ﬂi/”ﬂjym/.})%db"ﬂKui;/'!}“’,@ (2



TEST b 7 PHYSICS 4 10TH ) S ud T.MARKS @ 30
NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / CHECKED BY
Circle the Correct Option 1X6=06 u" 6»/1;/..41:’./1:

) Intungsten filament the potential given to produce the beam of u"y &1 Lo (F - /,/.0 2l l..fr’/ a

electrons by thermionic emission is:

(A)6V B)7V (C)8v
Il) Cathode rays have a charge:

(A) +ve and -ve fg/};l}’:/’g (B) Neutral )./ (C) Positive xJ{
Ill) The output of OR gate will be zero (0) when:

(A) A=1,B=0 (B) A=0, B=1 (C) A=1, B=1
IV) For the diagnosis of brain tumor is used:

(A) lodine-131 (B) Phasforus-32 (C) Cobalt-60
V) The half life of lead is:

_‘atfd"?{b/ﬂ-’
D)9V
IR
(D) Negative f‘g

.anafv.:STuQ,ﬁT (n
(D) A=0, B=0

- t‘ndtﬁ“lé’_{(ﬁ,«'t‘ﬁu@wuﬁéb (v
(D) Carbon-14
—e el (v

(A) 10.0 hours (B) 10.2 house (C) 10.4 hourse (D) 10.6 hourse

VI) Atomic mass number can be found by relation: -‘LCJ:@Q?P/JLJEIQJJJ/ (vI
(A) Z-A (B) A+N (C)Z+N D)Zz+A

Write short answers of the following 2X7=14 J“ LU}/’ZVUVJ souns | M@ /:‘U’r‘

I) Whatis meant by Cathode Ray and Oscilloscope?

el Ve ?«:ﬁb’u’;ﬁ)‘;{ a

Il) Whatis relation between digital quantities and digital electronics? ?§. Jw L;@f.‘gfg}? U{"{“L;’umﬁfﬂ s{]
I11) What is meant by Logic operations and write names of its two types _uf‘irtérl}l, ;d;l?ug’:lz_/ ﬁ{ﬁ,@ g

IV) What is meant by Artificial radio activity?

V) Write four hazards of radiations.

St A LSRAT (v
Yl Bl Sk (W

VI) Is it pissible for an element to have different types of atom? ?ugzén /i'é(:’ -t _wﬁwup kf VI
VII) Name two factors which can enhance thermionic emission. ‘L&}’lv}&) u%“:l.fx{/“’c;u &fugd’%;&/ i

Write detailed answers of the following 5X2=10 J"):/f.pglzwz:.:«mmf IRl (3 /‘UV

1) Explain the nuclear fussion reaction.

_J/JLJ}JUJ}”/'K}’ (1

2) What are the three universal logic gates? Give their symbols w//;!ul.U&Jul?u‘dfu/u{,GUJZr/u’ (2

and truth tables.

LK




TEST b 8 PHYSICS 4 10TH ) S ud T.MARKS @ 30

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 VDTN (1))

I) The computer based information system is formed by components: -‘le/d'c;ur" _(LJ Jﬁwiﬁ}:f a

(A) 3 (B) 4 (C) 5

Il) Telephone was invented in:

(A) 1676 (B) 1776 (C) 1876

1)) is not processing:

D) 6
ollgddl QI

(D) 1976
PRy SV S ([

(A) Arranging t»—<">  (B) Manipulating 3955 (C) Calculating L'/C,,Lz (D) Gathering S

IV) A device used to transfer files from one computer to another: _‘L&}’ZJW’Z‘&_}/ L/Ja; ui'/‘:;’g‘/g /»:,/‘L;g‘;gﬁ‘/wu” s (IV

(A) Laser ~2 (B) Printer </ (C) Flash drive #1,3 u“?‘J" (D) Compactdisk _,Cﬁ.ug;/

V) The basic operations performed by a computer are: -90?476;9{;%{ (v
(A) Arithmetic operations  (B) Non-arithmetic operations (C) Logical operations (D) BothAand C

VI) What does the term e-mail stand for? -‘aﬂg'&u’( Jif_u’ (vl

(A) Extra mail J:.’u//{u (B) Electronic mail qu(;}gl (C) Emergency mail Jﬁfu’b‘/:l (D) External mail JTU//Q

Write short answers of the following 2X7=14

7 fe iz L e Wi S s i

1) What is difference between data and information?
II) What is telecommunication? Write its two sources.
Ill) Write the names of parts of hardware of computer.
IV) Where is coxial cable wires used?

V) Write a short note on fax machine.
V1) Write two uses of computer.

VII) Define Word processing.

‘e OSSPl (1
L s L PR
L UL st (i

s LU B
1 £
_u:”@uw,;é/‘}:f (i

BV S I CRVIN(Y

Write detailed answers of the following 5X2=10

Ry U2 L e W f 5 puien

1) Explain that why optical fibre is more useful tool for the
communication process?

2) Write a note on transmission of radio waves through space.
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TEST > 8 PHYSICS 410TH) gl T.MARKS @ 30
NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 uf/@a}b{.,,lz;vﬂ
I) In computer terminology, information means: -Lah,,ib‘guéﬁtﬁuﬁ&)tg}’}’{g{ a
(A) Large data (z3ss(J (B) Processed data :34+, (C) Raw data L3 (D) Any data &fu’{&/

Il) Radiowavesare ____ waves.

(A) Partical (£, (B) Mechanicalﬁ'g
lll) A mega byte has how many kilo bytes:

(A) 1004 (B) 1014
IV) The disc made of Aluminium is:

(A) Laserdisk -3,/ (B) Floppy disk 5318

V) The brain of any computer system is:

(A) CPU & (B) Control unit =9Js &
Vi) Which is the most suitable means of reliable continuous
communication between an orbiting satellite and Earth?

(A) Micro waves Jg;;/?h (B) Radio waves a4 k.

Write short answers of the following 2X7=14

1) Define telecommunication.
Il) What is meant by computer software?

lll) What is the function of CPU?

IV) What is difference between primary and seconday memmory?

V) Write two advantages of E-mail.
VI) State two uses of internet.

VII) How light signals are send through optical fibre?

5X2=10

Write detailed answers of the following

1) Write a note on internet uses.

2) What are the risks of ICT to society and environment?
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(C) 1024 (D) 1034
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(C) Hard disk —C-35. (D) Compactdisk il

_‘Léh;gﬁﬂ//b{%{fb(r (v
(C) Memmory (< (D) Monitor %+
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(D) Any light wave #s 2 U%0Y
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(C) Sound waves J#s %3l






